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COURSE INSTRUCTORS: BKP*, SST

Note:(a)All questzons are compulsory

for solving problems.

(c)Use of scientific calculator is allowed.

Q.No. Questlon CcO Marks

Q1

CO-2 5
the institute. 3

(b) If research funding i increases-in the institute, what is the
probability that the d : 18 a scientist?

(c) If research ﬁ.lpdmg _inCreases in the institute, what is the
probabﬂlty thagthe difector is a manager?

Q2 |Ina computer sc:1ence class 20% of students can solve a given
algonthnue‘problem( ‘A random sample of 10 students is selected.

(a) What"is ‘the probability that exactly 3 students from the
ample can solve the problem? CO-3 4

(b) Klso, calculate the probability that at”most 2 students can
“ solve the problem.

Q3 The number of errors detected by a software testing team each day
for 7 days is recorded as follows:

Day 1 2 3 4 S 6 )
Errors | 1 0 i) 1 3 0 1 e .

Fit a Poisson distribution to this data and estimate the expected
error per day.
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Q4

Cons1der the following information of a frequency distribution:
Uy = 0% = 16,u3 = 64,1, = 1024, mean = 10, mode = 11.

(a) Find the Karl Pearson’s coefficient of skewness and
comment on the result,

(b) Obtain B, and hence classify the frequency curve on the
basis of kurtosis.

CO-4

0.5+0.5
+0.5+0.5

Qs

A computer manager needs to know how efficiency of her new

computer program depends on the size of incoming data.

Efficiency will be measured by the number of processed requests |

per hour. Applying the program to data sets of different sizes, she

gets the following results, u“”’\”ﬁa &

Processed requests,y | 53 [ 48 | 45 | 36

(a) Obtain Karl-Pearson’s coefficient of qp‘rr
data size and processed requests. Interpret, the gé‘sult

(b) Estimate a regression line for fpfqé%s&%ﬂgrequests and
interpret the result T,

Y.
e % o

&
Data size (gigabytes),x [6 |7 [8 [9 |10 [{4" ;;;g

25105
+2.5t0.5

Q6

Fit a least squares curve of theé\g%;fiﬁ%@ = a, +a,x* to the
following data: %

CO-4

3H).5
+0.5
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